GRADIENT OF A LINE
Pearson Edexcel – Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier
1.
[image: Graphical user interface, chart

Description automatically generated]

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier
2.
[image: Graphical user interface, text, application

Description automatically generated]

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
3.
[image: Chart

Description automatically generated]

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier
4.
[image: Text, letter

Description automatically generated]


Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier
5.
[image: Diagram, engineering drawing

Description automatically generated]

Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier
6.
[image: A picture containing graphical user interface

Description automatically generated]


Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier
7.

[image: ]


Pearson Edexcel - Specimen Papers Set 1 - Paper 3 (Calculator) Higher Tier
8.
[image: Graphical user interface, text, application

Description automatically generated]
Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier
9.
[image: Text

Description automatically generated]
Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier
10.
[image: Graphical user interface, text, application

Description automatically generated]



Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier
11.
[image: Diagram

Description automatically generated]
OCR GSCE – Tuesday 3 November 2020 – Paper 4 (Calculator) Higher Tier
12.
[image: ]



OCR GSCE – Sample Papers – Paper 5 (Non - Calculator) Higher Tier
13.
[image: ]
OCR GSCE – Sample Papers – Paper 6 (Calculator) Higher Tier
14.
[image: ]


AQA GSCE – Thursday 4 June 2020 – Paper 2 (Calculator) Higher Tier
15.
[image: ]


















AQA GSCE – Thursday 8 June 2020 – Paper 3 (Calculator) Higher Tier
16.
[image: ]






AQA GSCE – Tuesday 21 May 2019 – Paper 1 (Non - Calculator) Higher Tier
17.
[image: ]
[image: ]












AQA GSCE – Monday 12 November 2018 – Paper 3 (Calculator) Higher Tier
18.
[image: ]










AQA GSCE – Thursday 7 June 2018 – Paper 2 (Calculator) Higher Tier
19.
[image: ]
[image: ]
AQA GSCE – Tuesday 12 June 2018 – Paper 3 (Calculator) Higher Tier
20.
[image: ]




AQA GSCE – Wednesday 25 May 2017 – Paper 1 (Non - Calculator) Higher Tier
[bookmark: _GoBack]21.
[image: ]
image6.png
(Total for Question 23 i 3 marks)




image7.png
10 The grsph shovs th dept, i, of water in & tank affr ¢ seconds.

20
0]

Depin
dem
a)

I R R TR TR T)
Time (1 secands)

(0 Find the gradint of s sraph

@

(6 Explsin what i gradint rpresents.

(Tt for Queston 10 3 marks)





image8.png
7 Here ar the quations o foursrsght lincs.

Line A
Line b
Line €
Line D

Tuo ofhee lnes ae perlel
Wit down the o paralel Hnes?

Line andline

(Total for Question 7 is 1 mark)





image9.png
24 4is the point with coordmates (1, 3)
s the pont wath courdnates (4 1)
The saigh line L goes rough bt A md 3.

I he i it aquation 2y = 3¢ — 4 perpendicular o Tne 17
Vo st shor Boe you gor o amsar

(Tota for Question 2415 4 mark)




image10.png
Line B gos through th ponts (1, 2) and 2, 5)

Do s A and B itrsect?
Vou must showal your working.

(Totalfor Question 25 is 3 marks)





image11.png
Disgram NOT
accuraly drawn

st point -1, 2)
i thepant (.5

(o) Find the condists ofthe midpiot of 4B

s the pont (4,4
Qisthe point 1,5)

) Find the gadiat o PO,

(Total for Question 13 i 4 marks)




image12.png
7 This graph shows part of a straight line.

y
E oprprptodpe
5
5
i B HIgpiin il
2

Fafr il
i T 0T i
e

(a) Show that the gradient ofthe line s 25.

(b) Wite down the equation of the ne.

®

m




image13.png
14 Show that line 3y = 4x — 14 is perpendicular to line 4y = “3x + 48.

@




image14.png
14 Asraight line goes through the points (p, g) and (r; s), where.

“p+
. gta=s

Find the gradient of the line.





image15.png
12 Work out the gradient of the straight line through (-2, 3) and (1, 9)
[2 marks]





image16.png
Line A has equation y=4x 1
Line Bis

perpendicular to line A

and

passes through the point (8, 5)

Work out the coordinates of the point where line B intersects the x-axis.
[4 marks]





image17.png
point on a circle, centre O.

The tangent at P intersects the axes at points A and 5.

vy

P8

Not drawn

25 () Srowthatne gt ot v gt 1

“¥

(2 marks]





image18.png
25 (b)  Work out the length AB.
Give your answer inthe form a5 where a s an neger.
Vou must show your working

4 marks)

units




image19.png
Here is a sketch of a quadratic curve.
‘The turning pointis (3, ~2)

Not drawn
accurately

Circle the correct statement about the gradient of the curve for x <3
11 mark]

gradient is positive gradient is negative

gradient is zero gradient could be any value





image20.png
12 A straight ine is drawn on the centimetre grid.

¥

Fay assumes that the scale is 1 cm represents 1 unit

12 (a)  Use her assumption to work out the gradient of the line.

11 mark]





image21.png
12 (b)

Infact, the scale is 1 cm represents 2 units.

Which statement s comrect?

Tick one box.

11 mark]

‘The answer to part (a) i too big

‘The answer to part (a) stays the same

‘The answer to part (a) s too small




image22.png
8 (a) Showthatthelines y=3v+7 and 2y—6x=8 are paraliel.

Do not use a graphical method.
13 marks]

8 (b) s the point (-5, ~6) above, below or on the fine y = 3 +7 2
Tick one box..

Above Below Onthe line

‘You must show your working.

Do not use a graphical method.
[2marks]





image23.png
17 (@)

170

As the point (2, -5)

Bisthe point (4, -9)

Show hath gradent f e s ine passg hronh AandBis2
Cis the point (-301, 601)

Doss Glie on the straight line passing through A and 57

‘You must show your working. N





image1.png
12 The graph gives information about the volume, v lites, of petrol in the tank of Jim’s car
after it has travelled a distance of d kilometres.

30

TS S C T
‘Distance (d ilometres)

(@) Find the gradient of the graph.

(%) Interpret what the gradient of the graph represents.

(Total for Question 12 is 3 marks)




image2.png
6 s the point with coordinates (5. 9)
Bis the point with coordinates (d. 15)

The gradient of the line AB is 3
Work out the value of d.

(Total for Question 6 is 3 marks)





image3.png
12 The graph showsthe volume of liquid (L ltrs) in a container at time f seconds.

16

"

12

10

o 1 2 3 4 5 6 7 8
Time (¢ seconds)

(@) Find the gradicn of the graph.

@
(6) Explsin what this gradient rpresents.

()
“The graph ntrsects the volume axis st L= 4

(©) Explsin what this intersept rpresents.

()
(Total for Question 12 is 4 marks)





image4.png
(Totat for Question i 2 marks)





image5.png
o

ABCD s a thombus.
The oo of 4 e (51)
“The quaton of e iagona DB i

Findan squaton of e diagonal AC.

(ot for Question 18 s 4 marks)





